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xr = log[L/Lu]
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Fab(xr )=achromatic receptor response
Fab(xr )=bβexr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a] a=1,00, b=1,00 e=2,7182
β=1.0 

F’ab(xr )= 4 bα / [a{exr /a+e−xr /a}2] a=1,0b=1,0
α=1.0 

WN

mFrupi=0.0  mFrumi=0.0  

as=1.0  bs=1.0  bsdas=1.0  
mR+=0.49  mG−=0.49  mY+=0.98  

range of office
luminance

N W
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xr = log[L/Lu]

L u0 L u L u1

Fab(xr )=achromatic receptor response & modified
Fab(xr )=bβexr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a] a=1,00, b=1,00 e=2,7182
β=1.0 

F’ab(xr )= 4 bα / [a{exr /a+e−xr /a}2] a=0,66b=1,00
α=1.0 

WN

mFrupi=0.0  mFrumi=0.0  

as=0.66  bs=1.0  bsdas=1.51  
mR+=0.73  mG−=0.73  mY+=1.47  

range of office
luminance

N W
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xr = log[L/Lu]

L u0 L u L u1

Fab(xr )=achromatic receptor response & modified
Fab(xr )=bβexr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a] a=1,00, b=1,00 e=2,7182
β=1.0 

F’ab(xr )= 4 bα / [a{exr /a+e−xr /a}2] a=0,70b=1,00
α=1.0 

WN

mFrupi=0.0  mFrumi=0.0  

as=0.7  bs=1.0  bsdas=1.42  
mR+=0.69  mG−=0.69  mY+=1.39  

range of office
luminance

N W
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xr = log[L/Lu]

L u0 L u L u1

Fab(xr )=achromatic receptor response & modified
Fab(xr )=bβexr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a] a=1,00, b=1,00 e=2,7182
β=1.0 

F’ab(xr )= 4 bα / [a{exr /a+e−xr /a}2] a=0,75b=1,00
α=1.0 

WN

mFrupi=0.0  mFrumi=0.0  

as=0.75  bs=1.0  bsdas=1.33  
mR+=0.65  mG−=0.65  mY+=1.3  

range of office
luminance

N W
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xr = log[L/Lu]

L u0 L u L u1

Fab(xr )=achromatic receptor response & modified
Fab(xr )=bβexr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a] a=1,00, b=1,00 e=2,7182
β=1.0 

F’ab(xr )= 4 bα / [a{exr /a+e−xr /a}2] a=1,33b=1,00
α=1.0 

WN

mFrupi=0.0  mFrumi=0.0  

as=1.33  bs=1.0  bsdas=0.75  
mR+=0.37  mG−=0.37  mY+=0.74  

range of office
luminance

N W
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xr = log[L/Lu]

L u0 L u L u1

Fab(xr )=achromatic receptor response & modified
Fab(xr )=bβexr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a] a=1,00, b=1,00 e=2,7182
β=1.0 

F’ab(xr )= 4 bα / [a{exr /a+e−xr /a}2] a=1,41b=1,00
α=1.0 

WN

mFrupi=0.0  mFrumi=0.0  

as=1.41  bs=1.0  bsdas=0.7  
mR+=0.35  mG−=0.35  mY+=0.7  

range of office
luminance

N W
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xr = log[L/Lu]

L u0 L u L u1

Fab(xr )=achromatic receptor response & modified
Fab(xr )=bβexr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a] a=1,00, b=1,00 e=2,7182
β=1.0 

F’ab(xr )= 4 bα / [a{exr /a+e−xr /a}2] a=1,50b=1,00
α=1.0 

WN

mFrupi=0.0  mFrumi=0.0  

as=1.5  bs=1.0  bsdas=0.66  
mR+=0.33  mG−=0.33  mY+=0.66  

range of office
luminance

N W
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xr = log[L/Lu]

L u0 L u L u1

Fab(xr )=achromatic receptor response & modified
Fab(xr )=bβexr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a] a=1,00, b=1,00 e=2,7182
β=1.0 

F’ab(xr )= 4 bα / [a{exr /a+e−xr /a}2] a=1,00b=2,00
α=1.0 

WN

mFrupi=0.0  mFrumi=0.0  

as=1.0  bs=2.0  bsdas=2.0  
mR+=0.98  mG−=0.98  mY+=1.97  

range of office
luminance

N W


